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<h4 id="EHRNSRFER" > EHRNSES </h4>

<p>1 ERANRIIXAREASYZ AR, XMPEEMEEMENR. <br>

2 HPWSRANTFREZ AR, RIS, <br>

3 WSHEFENERR, BERMHENANEIEMTE. <br>

4 XEEAHERBIENHERETTEIN—HEYRINES. <br>

5 RECIBRWRAENR, KAPBPHNETEMENR., B new XEFRILFMLIISE, <br>
6-ERERIERT " KinENRRBMAGE. </p>

<h4 id="42%" > 47 < /h4 >

<p>Java HfEF extends KEFRFTRMEKXR,; </p>

<p>java.lang.Object Z£2FFE Java AR <br>

RAIFRMYIR, AIFSEMWR, CHFZEMRE) <br>

SPRALUBIER—PRE, <br>

£ Java 1, ZEAERZFILIAY, BI—DSRAIEEATLIBEMPRBINIRSE, <br>

K extends ki <br>

super B3, R, EE<br>

R super XIEFRERAXEAINRTENGE, </p>

<f p>{§bm super XEFIERBRRAMBETTEIRHR, super(UABBHESARIIE—T, REEHI]
IR, <br>

REEEMIE AR super 8¢E this BRARMAIMIETSE, FREEMRITIEPER. </p>
<p>class Person {<br>

public Person() {</p>

<p><code>}</code></p>

<p>}</p>

<p>class Man extends Person {<br>

public Man() {</p>

<p><code>}</code></p>

<p>}3 Man #7&F Person 3§, IX##F—KAYE, Person EFRARKZE (BEZ) , Man ERAFE (
HR) . MBRMPEFERERR, WFERSBNWERRLQENGTENEE, EFRPILIERRER
AR, 1f java i, ARTFRWER, EHER —MEEZREEEMWET L, BE—
AL SRR, B — M RETLAES L. </p>

<h4 id="$3%">$1%E</h4>

<p>BARKHRE NERRAAERMIGR (RXIINTRRY private) |, (REFRIBZEE(RAIEFF, (B
(RARBYELAM, X MHRIFMERE—1 0% (XIIMNFREY public) |, {REUHERRIFZM (get 0
et J5iEFRUIBIE) (RABERAVEE (SEIEA) </p>

<p>fERFEISEEASTIMT, iLEAE ReEEEERTTShEEE, </p>

<p>EFEEALBIA /IR —MREBSRIPCIFEUERE MR MIE ERIERNRRER. hiaEdE
KRB —MEOF 8=, </p>

<p>EPERAYEEIFARIE IR ISLIAY CIBM XASBIAE A SERRREA RIS, EERAUX ML
MRRIBEE4HA, RIEHLURT Bit. </p>

<p>public class Employee{<br>

private Integer id;<br>

private String lastName; <br>

private String email;</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">public Integer getld() {

</span></span><span class="highlight-line"> <span class="highlight-cl"> return id;
</span></span><span class="highlight-line"> <span class="highlight-cl">}
</span></span> <span class="highlight-line"> <span class="highlight-cl">public void setld(l
teger id) {

</span></span><span class="highlight-line"> <span class="highlight-cl"> this.id = id;
</span></span><span class="highlight-line"> <span class="highlight-cl">}
</span></span><span class="highlight-line"> <span class="highlight-cl">public String getL
stName() {

</span></span><span class="highlight-line"> <span class="highlight-c|"> return lastName
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</span></span><span class="highlight-line"><span class="highlight-cl">}
</span></span><span class="highlight-line"> <span class="highlight-cl">public void setLas
Name(String lastName) {

</span></span><span class="highlight-line"> <span class="highlight-c|"> this.lastName =
astName;

</span></span><span class="highlight-line"><span class="highlight-cl">}
</span></span><span class="highlight-line"> <span class="highlight-cl|">public String get
mail() {

</span></span><span class="highlight-line"> <span class="highlight-c|"> return email;
</span></span><span class="highlight-line"> <span class="highlight-cl">}
</span></span> <span class="highlight-line"> <span class="highlight-cl">public void setEm
il(String email) {

</span></span><span class="highlight-line"> <span class="highlight-c|"> this.email = em
il;

</span></span><span class="highlight-line"> <span class="highlight-cl">}
</span></span></code> </pre>

<p>IYRBIFERNEINLEEIERRFERIAL, BEBRT, XEGEREN I getters # setters
EIARE RN T EBAMHTEMSEE(ER getters 7 setters 737%. </p>

<p>UNTFETLABIEE— test iF[AINTR: </p>

<p>public class EmployeeTest{</p>

<p>public static void main(String args[]){<br>

Employee employee = new Employee(); <br>

employee.setld(1);<br>

employee.setLastName("3K=");<br>

employee.setEmail("123@qq.com");</p>

<p>System.out.print("lastName : " + employee.getLastName()+ <br>

" email : "+ employee.getEmail()); <br>

}<br>

Yaan ™ </p>

<p>lastName: 3= email: 123@qq.com###### TFEAILR</p>

<ul>

<li>EPRFRATLIMIREN RERRE, </Ii>

<li>KeIL e eEH e REmENERRE, </Ii>

<li>SEAYEAE A ARNER RN MEEEERY. KA LA FRAVEIE B MR ERE AT ENR
AIZBIRIRER, </li>

</ul>

<h4 id="Z%&">%3</h4d>

<h4 id="EX">EN </h4>

<p>1ERFAREAISIIE—HEMEmN., BIFE—EE I LMRERE ISR AR MRASTAR
TR, (REEEMERREHEA) | </p>

<p>SLIZSHISATRA : FIEHE (dynamic binding) |, RIEEHITHAEFIRTFTS | FIXIRAYSERR
B, RIEHSCIrRRAEAEENAYGE. </p>

<p>ZSHIER: IBFEEEIZERIMERER, </p>

<h6 id="ZFFEN=TERMH"> SEFEN=TLEFM</h6>

<p>—. BEERIK, </p>

<p>Z. BHEE, </p>

<p>=. RES|BEERFEER. </p>

<h6 id="ZERIEFRL-" > ZERIEFRL: </h6>

<ol>

<li>ATE#E (substitutability) . ZENEFENBEETERME. Hl0, ZEXIE Circle XT{F
MEMAHAREA VAR, &R, BEETIE, </li>

<li>aJf 78t (extensibility) . SEXINBEGAYT 7it. BIIFRIFEATMEFERNSTM
Boxtt, LIREMAFHERNEITAERE. SR EFRINFRESZIXESEINEE. Flan, ESE 7RI,
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BN FIANS SR £, REZBRKIRENSEME, </li>

<li>EOM (interface-ability) ., ZERERBITESER, FFREMTAHEBEED, BFE
STEIE B oS, WNE 8.3 Fizs. EFiEsE Shape Ml T PMLMSSAYROTTE, compu
eArea()LARz computeVolume(), 2§, 40 Circle #1 Sphere ATXLIMER, TEHEB=XHD
A7k, </li>

<li>REH (flexibility) ., EEMAPARIL T RIBSHERVRE, B8 7 EAMER, </li>

<li>@EetE (simplicity) . Z&EAWINABREIIREHESEIIESIIRE, TEHEMEXENSRANZ
%DT;T'%IVEEB‘, XMFRTAREIEE, </li>

</ol>

<p>Java RZEHTIHGT: EOKI, WRLEKGHTTEES, R— P EPRHITHEER. </p>
<p>SEfl—: </p>

<p>public class Wine {<br>

public void fun1(){<br>

System.out.printin("Wine g9 Fun.....");<br>

fun2();<br>

}</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">public void fun2(){

</span></span><span class="highlight-line"> <span class="highlight-cl"> System.out.print
n("Wine gJFun2...");

</span></span><span class="highlight-line"> <span class="highlight-cl">}
</span></span></code> </pre>

<p>}</p>

<p>public class JNC extends Wine{<br>
/**</p>

<ul>

<li>@desc FEREHRXETTE</li>

<li>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
c"> REFRFHEZGE, BLERE, REEAFEESIBIZEEN
</span></span></code></pre>

</li>

<li>@param a</li>

<li>@return void<br>

*/<br>

public void fun1(String a){<br>

System.out.printin("JNC gJ Fun1...");<br>

fun2();<br>

y</li>

</ul>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
C|">/**

</span></span><span class="highlight-line" > <span class="highlight-cl"> * FREERXFKH

</span></span><span class="highlight-line"> <span class="highlight-cl"> * 15EF3EAIRZE
FARfun2iY, “ERERZEE

</span></span><span class="highlight-line"> <span class="highlight-c|"> */
</span></span><span class="highlight-line"> <span class="highlight-cl">public void fun2(){

</span></span><span class="highlight-line"> <span class="highlight-cl"> System.out.print
n("JNC ByFun2...");

</span></span><span class="highlight-line"> <span class="highlight-cl">}
</span></span></code> </pre>

<p>}</p>

\Y
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<p>public class Test {<br>

public static void main(String[] args) {<br>

Wine a = new JNC();<br>

a.fun1();<br>

}<br>

NE1TER: </p>

<p>Wine §J Fun....<br>

INCHI Fun2... SLAI— (Z&==48&) : </p>

<p>ARICRHMEHIFHNZS., FASEE—METHITA, FEREPTA. </p>
<p>Ltkan Parent p = new Child();</p>

<p>SERSSHVERLEN, BRERXXPESAZDE, RRE, WmEER, WRE,
FRBTFRNZAEESZE. (RIS, 838 static 5B THRHRER, BSHAREIER, 188
Override, NRFEPEN TRBEFIRIESITE, BNREGEZRERIRAMER. BB
FRWERYS IR, NUIERERIMRA. ) </p>

<p>UNRBERRFRPEMEFIRENGE, TEHTEGIEEELR, W EEAfF+, 18 p i
79525 Child XBU895| /8, RS REERIS ISR RIS, ARESIREALER, HAZIR
RARFERTTS R, XEHERFZEHTA FRIKESER, KRES|IRERAFESIA. </p>
<p>ZEELHNRBE, EEHHPIPRESLIRIPFRmIEIHRAVEIR . </p>

<p>public class PolyTest<br>

{<br>

public static void main(String[] args)<br>

{</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
"> //[R) L2REEE R

</span></span><span class="highlight-line"> <span class="highlight-cl"> Cat cat = new
at();

</span></span><span class="highlight-line"> <span class="highlight-c|"> Animal animal
cat;

</span></span><span class="highlight-line"> <span class="highlight-cl"> animal.sing();
</span></span><span class="highlight-line"><span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> //[EZ&8%4Ei%
</span></span><span class="highlight-line"> <span class="highlight-c|"> Animal a = new
Cat();

</span></span><span class="highlight-line"> <span class="highlight-cl"> Cat c = (Cat)a;
</span></span><span class="highlight-line"><span class="highlight-cl"> c.sing();
</span></span><span class="highlight-line"> <span class="highlight-cl"> c.eat();
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> //%RiFi&i=
</span></span><span class="highlight-line"> <span class="highlight-cl"> //BRZ5|FHE

REAFENTZE, CatkpENX Teat()75i%, BRAnmalLEFREXNIi%, al5IARAnmals
. FTLABCAREN,

</span> </span><span class="highlight-line"> <span class="highlight-cl"> //Animal a1 =
ew Cat();

</span></span><span class="highlight-line"> <span class="highlight-cl"> //al.eat();
</span></span><span class="highlight-line"> <span class="highlight-cl|">
</span></span><span class="highlight-line"> <span class="highlight-cl"> ///wiFfEi=
</span></span><span class="highlight-line"> <span class="highlight-cl"> //[E T84}k

%ﬁﬁi?ﬁ?ﬁﬁﬁ’ﬂiﬂ%%ﬁg, EHA2E5 | RIsEAVZCat3 kRIS, MERHIHE#EADOgR, XEARH
</°span> </span><span class="highlight-line"> <span class="highlight-cl"> //Animal a2 =
ew Cat();

</span></span> <span class="highlight-line" > <span class="highlight-cI"> //Cat c2 = (Dog
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az;

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">}

</span></span></code> </pre>

<p>}<br>

class Animal<br>

{<br>

public void sing()<br>

{<br>

System.out.printIn("Animal is singing!"); <br>

}<br>

}<br>

class Dog extends Animal<br>

{<br>

public void sing()<br>

{<br>

System.out.printIn("Dog is singing!"); <br>

}<br>

}<br>

class Cat extends Animal<br>

{<br>

public void sing()<br>

{<br>

System.out.printIn("Cat is singing!"); <br>

}<br>

public void eat()<br>

{<br>

System.out.printIn("Cat is eating!");<br>

}<br>

}<br>

ZERENERE . <a href="https://Id246.com/forward?goto=https%3A%2F%2Fblog.csdn.ne
%2Fa78270528%2Farticle%2Fdetails%2F80018602" target="_blank" rel="nofollow ugc" >https
//blog.csdn.net/a78270528/article/details/80018602</a> </p>

<h4 id="#0O">&EO</h4>

<p>#&M, MMAF <strong>interface</strong>, EEHETIEF, EOZFEMHBIABRITZEE
R, ENEOWT</p>

<p>public interface InterfaceEmployee{<br>

..<br>

HBAEHMRIRI T — usb FOREEZERMIIREIREICARY usb ZFO £, AAJ8EEAE
ga O HE? </p>

<p>BEERGEOFGE—MREIDT, BOZ5 Java GRS FEAENXR. </p>
<p>#E0 ZHRRITHRE (MoREEM) B JwmscIll JRYThRErIBinvThee, </p>
<p>EOFILISEEENGZE. BEREIR, BEOPRNTESHERIUEREA public static final
2 (FHERBER public static final Z&, H private (BIhSRmFER) ;| </p>
<p>JTEERIETUEEREYY public abstract 75;5EREER public abstract 757 (FIEXE=,
g0 private, protected, static, final FHEIhMRFEIR) , FEZEOPAENGEFEBRIR
S, BRUER, EOPRIITELEREMSRITIE. </p>
<p>BI—PREREREFRZEOFEMERA implements: </p>

<p>public Employee implements Interface(){<br>

..<br>

YiH## B < p>

<p>7E Java PERABEA TR, KiEHinE, EEER/EMME. EO. KENTES
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ERENER, </p>
<p>BALREN S—HEXRRIEE (K. #FO. f&ENER) | RHnERFIaa=EEE,. </
>

<h6 id="BIAY4F4L-">BIRTEFAL . </h6>

<p>1 ZFTEKFFER<br>

2 BrlEapE s <br>

3 IR BSEENRIFEMGIE</p>

<p>fif package kE=BENME,; </p>

<p>{£H import SRS ANBHEE</p>

<p>import java.util.Scanner; import java.util.*</p>

P> String R3|/BHHELT, BREXEPIMETRESA, A javalang O, Ree
B\ <br>

public ARy private FABRY protected Z{RIPAY , default BRIABI<br>

private {EIPRIMRTEEFABRY, FEERHIHFEWRE, XNERNFE—NLBRIAIGERET
IRYBRY</p>

<h4 id="8%">8%#;</h4>

<p>¥’§ii£7‘:‘é£ﬁ’ﬂ§$ﬁ MGz fEEE, EEANBRRER. @7 N R, 8—FRONRRIEER
A~—#£, <br>

BREREZ, BRIEEL. AERIENSZ, BRI, #HRENRBRIER. &Lt A—KIETIIR
BRERiEZR <br>

s hr, </p>

<p>HBEHNER . 1 RPENSNMERERNGZE, ESHRREHFE MR </p>

<h4 id="&EE5">8E5</h4>

<%§D%—4\%MEE’\JQ¥2%7¥<T—4\H &, WRXNZRZBEHEIRCA final , FAILINXNGE
TEE. </p>

<p>EERIFERE: BEBEMSFET FEEENITH, XEREFERBEETEREIIRENGE
</p>

<p>EEMGERENSIFWL, FRSEIIN</p>

<p>public class Animal{</p>

<p>public void move(){<br>

System.out.printIn("Animals can move");<br>

}<br>

}</p>

<p>public class Dog extends Animal{</p>

<p>public void move(){<br>

System.out.println("Dogs can walk and run");<br>

}<br>

y</p>

<p>public class TestDog{</p>

<p>public static void main(String args[]){<br>

Animal a = new Animal(); // Animal reference and object<br>

Animal b = new Dog(); // Animal reference but Dog object</p>

<p>a.move();// runs the method in Animal class</p>

<p>b.move();//Runs the method in Dog class<br>

}<br>

YBRUT: </p>

<p>Animals can move<br>

Dogs can walk and run £ FERFIFF, {RETLABEIRE b & Animal 358!, {BEIZ{TT dog £
A%, RER: AmENSQES|AEE. A, AEiTh, VM SHENSERRRETH—1 3
. </p>

<p>RElty, FELEEGIFF, 2SR Animal B move Fix, BFSIEERE, MaiTh, SIETIESE
SHEE. </p>

<p>FETERIGIF: </p>

<p>class Animal{</p>
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<p>public void move(){<br>

System.out.printIn("Animals can move");<br>

}<br>

}</p>

<p>class Dog extends Animal{</p>

<p>public void move(){<br>

System.out.printIn("Dogs can walk and run");<br>

}<br>

public void bark(){<br>

System.out.printIn("Dogs can bark");<br>

}<br>

y</p>

<p>public class TestDog{</p>

<p>public static void main(String args[]){<br>

Animal a = new Animal(); // Animal reference and object<br>

Animal b = new Dog(); // Animal reference but Dog object</p>

<p>a.move();// runs the method in Animal class<br>

b.move();//Runs the method in Dog class<br>

b.bark();<br>

}<br>

MRS </p>

<p>TestDog.java:30: cannot find symbol<br>

symbol : method bark()<br>

location: class Animal<br>

b.bark();<br>

AN<br>

XNMEFERmENENE—MER, E9 b B95|A3EEL Animal ;[5— &5 bark B35, </p>
<h5 id="ESMN">EEHN</h5>

<ul>

<li>EBE LA IRNZSFG E=EER. </li>

<li>IREHERBURLZANR S ARNREERE — e & BT ERRE AR FEE, </li>
<li>EBEEREHRAIREIARELLRERES. EM01F: NREFEFBPALNEN, IBAFEFH
B eRfABRIEEFIPR. </li>

<li> REWFERIPERT, FiEAERES. </li>

<li>FEEN A final, BEHABERES., </li>

<li>—PNZEWEN A static, BEERREWNES, BREALIEHRHFR, </li>
<li>—PNFERBEHRMER, BABAEWES., </li>
<li>FARE— MBI FRBEBEESHAIZBHAERA private # final ARG E, </li>
<|i|>%DQ%$Eﬁ—¢@¢E§¥¥RﬁEEE non-final 73, &8k#% =889 public 8 protected HY73i%
</li>

<li>—{EEGEEEMHEHIETRRE, F1EREEREEAMHEE. AMESHERROZT
Fb%&i—%ﬁ ZERPNEFE ZHNENERE. E50 AR HHWES HZEEHELNRE. <
i>

<li>EREABEES., </li>

</ul>

<h5 id="{&Esuperk#=">{#F super XK#E=Fx</h5>

<p>ZHABRXEAINEENGER, BERXEF super, </p>

<p>class Animal{</p>

<p>public void move(){<br>

System.out.printIn("Animals can move");<br>

}<br>

}</p>

<p>class Dog extends Animal{</p>

<p>public void move(){<br>
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super.move(); // invokes the super class method<br>

System.out.printIn("Dogs can walk and run");<br>

}<br>

}</p>

<p>public class TestDog{</p>

<p>public static void main(String args[]){</p>

<p>Animal b = new Dog(); // Animal reference but Dog object<br>

b.move(); //Runs the method in Dog class</p>

<p>}<br>

HXAGF=EAN TSR </p>

<p>Animals can move<br>

Dogs can walk and run#### FEIE</p>

<p><strong>Throwable: </strong> 2rEREAHETSE<br>

<strong>Error: </strong> 1SRURTERFAAEIEREEIR  <br>

<strong>Exception: </strong> {EHIEZFASAILNENRE </p>

<p>try{<br>

ZRIUAN, BRI FEMERNAFERIXE <br>

ﬂkﬁﬁéiﬁgﬁEI’\JﬁﬁEjiJ%;EJ%‘EE%’E*i%E’\JZﬁﬁ; 8/18, ERSEX/LaBIRAGEERE, ErRE
MAE T <br>

Jcatch(BER A EIBEIN S HEAIZEE MKR){<br>

MEHEALUS, ZEALIE<br>

SEAMBARSER; bk System.out.print("");<br>

Hinally{<br>

TiCRARERBESUTAN SR <br>

FTACREIMABRA, EHUWPBA<br>

} Java WEERILID S IGERNRE 1 TiTlRSE<br>

Z1THTSE : RuntimeException REEFE</p>

<h4 id="String2&" >String 2&</h4>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
c"> //EEWERTTE

</span></span><span class="highlight-line"> <span class="highlight-cl"> String temp ="
bc";

</span></span><span class="highlight-line"> <span class="highlight-cl"> //#¥3i&75£RE
</span></span><span class="highlight-line"> <span class="highlight-cl"> String temp1 =
new String("#IIEMR{E");

</span> </span> <span class="highlight-line"> <span class="highlight-cl"> //B+S#{7=%
ERAYIHE

</span></span><span class="highlight-line"> <span class="highlight-c|">  String temp2 =
emp+temp1;

</span> </span><span class="highlight-line" > <span class="highlight-cl"> //=#&F&BTL\F]
fihKBRITERITIERE, (BREZEBRINERBEStringZlHy

</span></span><span class="highlight-line"> <span class="highlight-cl"> //ASR&EZZRT
RURPRZRIRT IR, A"+ "SHE, AStringBuffersSHH{TE(F

</span></span><span class="highlight-line"> <span class="highlight-cl"> System.out.print
n(temp2+(num+num1));

</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl"> String hello ="
ello world";

</span> </span><span class="highlight-line"> <span class="highlight-cl"> //Z#F&Eflengt
073i%, RFIREFFERIKE

</span></span><span class="highlight-line"> <span class="highlight-cl"> int len = hello.|
ngth();

</span></span><span class="highlight-line"> <span class="highlight-cl"> System.out.print
n("FRIERAYIKER"+1en);
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</span></span><span class="highlight-line"><span class="highlight-cl"> //iIREI}EEZ3|

A9 char (B, ZR5I5BE/IM 0 Bl length() - 1. FHIRIE— char (B FTES] 0 &, F=MUTES|

G, MRIEESEHE, XSRUTEEBRS].

</span></span><span class="highlight-line"> <span class="highlight-cl"> char ctemp =

ello.charAt(0);

</span></span><span class="highlight-line"> <span class="highlight-c|"> System.out.print

n(ctemp);

</span></span><span class="highlight-line"> <span class="highlight-cl">

</span></span><span class="highlight-line"> <span class="highlight-cl"> String hello ="

ello world";

</span></span><span class="highlight-line"> <span class="highlight-cl"> //IREf§EF=F

REF RIS IR HIIARIZRS ],

</span></span><span class="highlight-line"> <span class="highlight-cl"> int num = hello.

ndexOf("o");

</span> </span><span class="highlight-line"> <span class="highlight-cl"> //iIR[E}§EF=

B F R RE—RHIAIZES].

</span></span> <span class="highlight-line"> <span class="highlight-cl"> int lastNum = h

llo.lastindexOf("o");

</span></span><span class="highlight-line"> <span class="highlight-cl"> System.out.print

n(num);

</span></span><span class="highlight-line"> <span class="highlight-c|"> System.out.print

n(lastNum);

</span> </span> <span class="highlight-line" > <span class="highlight-cl"> //iR[E—"AY
TR, BRUEFFBRN—NFFHR. R FFIBEMNEERE =T e, BRILFRERE,

</span> </span><span class="highlight-line"> <span class=" hlghllght cl">  String subTemp

= hello.substring(2);

</span></span><span class="highlight-line"> <span class="highlight-c|"> System.out.print

n(subTemp);

</span></span> <span class="highlight-line"> <span class="highlight-cl"> //iRE—=

8, BRIEFFBEN—NFFrTH. % TEMEER] beginindex &FF4R, HZIZES| endindex -

RFRF. A, 1ZFFREIIKES endindex-beginindex,

</span></span><span class="highlight-line"> <span class="highlight-cl"> String subTem

1 = hello.substring(2,5);

</span></span><span class="highlight-line"> <span class="highlight-cl"> System.out.print

n(subTemp1);, BFAEREETHIMREMIEERZEEAY.

</span></span><span class="highlight-line"><span class="highlight-cl">

</span></span></code> </pre>

<h4 id="Stringbuffer">Stringbuffer</h4>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight

cl">  String str1 = "hel";

</span></span><span class="highlight-line"> <span class="highlight-c|"> String strUp =

Hel";

</span> </span><span class="highlight-line"> <span class="highlight-cl"> //{Ri&—/N&IiE
5 R, RAEANNGIED, MeBmANAN, NG, #aLICIEET.

</span> </span> <span class="highlight-line"> <span class="highlight-cl"> //java@X/N\E
By, ATLARequalsEERATHI

</span></span><span class="highlight-line"> <span class="highlight-cl"> boolean sta2 =
tr1.equals(strUp);

</span></span><span class="highlight-line" > <span class="highlight-cl"> //#llt, String
55— String LU, AERANG., NRADFHRFRRIKERER,

</span></span><span class="highlight-line"> <span class="highlight-cl"> //FBEHE+HIE
FREMES (BRANS) , NIANXEDFFRFEREEEFR.

</span></span><span class="highlight-line"> <span class="highlight-cl"> boolean sta = s

r1.equalslgnoreCase(strUp);
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</span></span><span class="highlight-line"><span class="
n(str1+"f0"+strUp+"E2E1EF" +sta2);

</span></span><span class="highlight-line"> <span class="
n(str1+"#0"+strUp+"HIgnoreCasett iREEHEZE" +sta);
</span></span> <span class="highlight-line"> <span class="
lo WOrLd";

</span></span><span class="highlight-line"><span class="
s

</span></span><span class="highlight-line"> <span class="
n("IREEHEZRIRIZ" +res);

</span></span> <span class="highlight-line"> <span class="
n("LowerCase iR [GHYE" +res.toLowerCase());
</span></span><span class="highlight-line"><span class="
s

</span></span><span class="highlight-line"> <span class="
n("UpperCase & f[FRIR" +res.toUpperCase());
</span></span></code> </pre>

highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl”
highlight-cl”

System.out.print
System.out.print
String res = "HE
//TBABE NS

System.out.print
System.out.print
//TBBEI RS

System.out.print
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